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Сумма элементов массива

s:=0;
for i:=1 to 14 do
begin s:=s+A[i];
end;



Произведение элементов 
массива

s:=1;
for i:=1 to 4 do
begin s:=s*B[i];
end;



Сумма положительных 
элементов 

s:=0;
for i:=1 to 14 do
begin if D[i]>0 then 
s:=s+D[i];
end;



Количество элементов, 
равных 2

s:=0;
for i:=1 to 10 do
begin if C[i]=2 then 
s:=s+1;
end;



Произведение 
положительных элементов 
s:=1;
for i:=1 to 23 do
begin if A[i]>0 then 
s:=s*A[i];
end;



Количество отрицательных 
элементов

s:=0;
for i:=1 to 50 do
begin if N[i]<0 then 
s:=s+1;
end;



Сумма отрицательных 
элементов

s:=0;
for i:=1 to 20 do
begin if M[i]<0 then 
s:=s+M[i];
end;


